
 1 

 
 
Item # | Product Name:   #302209 Raft Dual Anchoring Bungee Kit  
 

Parts List: Tools Needed: 

1.  Orange shock absorbing cord qty 2 1. Ratchet and 5/8” socket 

2. U connector qty 4 2. 5/8” wrench 

3.  7/16 x 3 ½” galv. bolt qty 4, 7/16 galv. washer qty 8, 
7/16” galv. tri-loc nut qty 4 

3.  

4.   4.  

5.  5.  

 
 

1.  Parts included: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2.  Locate the attachment points on the bottom of the raft. There are two anchoring points on each end 
between the pontoons. 

 
 
 
 
 
 
 
 
 
 
 
 

 
 

wavearmor.com 



 2 

3. Insert one of the u-shaped clevises through the loop in the end of the bungee cord. Place the clevis over 
the attachment point on the raft. Insert the 7/16” bolt and washer through opening and secure with the 
7/16” tri-lock nut and washer. The nut is a locking nut and will require a slight amount of force to thread 
on. 

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4. Repeat the process above to attach the bungee cord to the second connection point. Attach a rope, 
chain or cable to the bungee clip and run this down to the anchor. The bungee cord should be slack so 
it has minimal tension on it. Repeat on other end to complete the installation. 

 
 


